(es) %{‘ggwg‘;g Global Soul Limited

smtmachine-spareparts.com

JUKI EF72FS 72mm Electric Tape Feeder

40132180

Basic Information

o Place of Origin: Japan oy
O o Brand Name: JUKI )
(] o Model Number: 40132180/ 401-32180 > &
=
U e Minimum Order Quantity: 1 PCS
o o Price: USD-+negotiable+pcs
CC)' o Packaging Details: 6507450*120mm
.Q.. o Delivery Time: 1-7 days
§ « Payment Terms: T
8 o Supply Ability: 1+pcs+per days
o _\‘_\"I &
C & &
O 4
=z
o
-}

Product Specification

o Place Of Origin: Japan

o Brand Name: JUKI

o Part Number 1: 40132180

o Part Number 2: 401-32180

o Model Number: EF72FS

o PART NAME: 72mm Electric Tape Feeder

« Highlight: JUKI EF72FS tape feeder,
72mm electric tape feeder,
SMT feeder with warranty

=
o
=
3
o
=
@
o
=
o
Q
c
)
Q
7]
=2
D
D
17
(]
=.
.
=
c
»
o
=]
%)
3
=
3
D
)
>
=]
@
%)
o
)
=
[0)
kel
)
=3
»
Q
o
3

More Images




Product Description

@) JUKI ETF EF72FS 72mm Electric Tape Feeder (40132180 / 401-32180)
=
Product Specifications
Y
8_ Place of Origin Japan
g Brand Name JUKI
—
S Part Number 1 40132180
=7
8_ Part Number 2 401-32180
= Model Number EF72FS
—
g Part Name 72mm Electric Tape Feeder

Product Images

! 9

.
o
S
3
o
=
D

©
9
o
[oX
c
Q
S
2]

=3
[¢]
Q
[2]
D
=
1z}
2
c
(]
o
=
(2]
3
2
3
Q
Q
>
>
4
(2]
©
Q
=
[0
©
Q
—
7]
8
3 9 %




,\Q

2
) x\\"

Compatible Parts List

« EF72FS 72mm Electric Tape Feeder

+ 40132180 72mm Electric Tape Feeder

» 401-32180 72mm Electric Tape Feeder

+ 401-43653 ASM_EF8S_MAIN_FRAME_UNIT_P
* 401-43545 MAIN_FRAME_8S_ADC

* 401-44749 SPROCKET_SH

* 401-44753 MAIN_GEAR_SH

+ PS-0200102-KH SPRING PIN 2.0 X 10

+ 401-44755 PULL_GEAR_SH




+ 401-44756 PULL_INTERMADIATE_SH

« E6347-705-000 FASTENER PIN BX3

+ PS-0300142-KH SPRING PIN 0.3 X 14

« PH-0300080-U0 PARALLEL PIN TYPE B 3X8
+ 401-43564 MARK_PLATE

- 400-82685 UPPER_COVER_UNIT

+ 400-77527 HOOK_PIVOT_SH

+ 400-68256 HOOK_SPRING

- 400-68184 HOOK_SP_COVER

- SL-4030591-SC SCREW M3 L=5

+ 400-77524 UPPER_COVER_SH

- 400-68673 UPPER_COVER_FLANGE

+ SM-1030501-SC SCREW M3 L=5

+ 400-77530 PLUNGER_PIN

+ 400-77529 PLUNGER_SP

- 400-68668 SPRING_STOPPER_PLATE

- SM-1030601-SC SCREW M3 L=6

« WP-0320501-SC WASHER M3

+ 400-68185 HOOK_STOPPER_COLLAR

+ SM-1030601-SC SCREW M3 L=6

+ 400-84398 UPPER_COVER_HOOK_ASSY
+ 401-44759 FEED_UNIT_R

+ 400-82688 SPROCKET_WHEEL_UNIT

- 400-82597 PP_SLIT_PLATE

+ 400-77510 SLIT_PLATE_WP

- SL-4020581-SC WASHER SCREW

- 401-12487 SPROCKET_GEAR

+ 400-69643 SPROCKET_WHEEL_ASSY

+ 400-77509 SPACER

+ SM-1040801-SC SCREW M4X0.7 L=8

+ 400-77502 SPROCKET_SHIELD_PLATE_A
- 400-82636 FRONT_BLOCK

+ SM-4041001-SC SCREW M4X0.7 L=10

+ WP-0430800-SC WASHER M4

- 400-57828 SPROCKET_SHIELD_PLATE_B
- 400-82690 FEED_ONE_SENSOR_ASSY

- 400-81301 PP_SENSOR_BR

+ 400-74097 PP SENS B PCB ASM

+ 400-77513 PP_SENSOR_COVER

« 400-77512 PP_SENSOR_PLATE_NUT

+ SL-4020581-SC WASHER SCREW

- 400-81302 ENCODER_SHIELD_B

- 400-81299 ENCODER_SHIELD_A

+ ST-4020521-SN TAPPING SCREW D=2 L=5
« WP-0220300-SC WASHER

« 400-77511 FEED_INTERMEDIATE_GEAR_BASE
+ 401-44750 FEED_INTERMEDIATE_GEAR
« 401-44751 INTERMEDIATE_SH

- SM-5040801-SC SCREW M4X8

- 400-68901 FEED MOTOR ASM

- SL-4030881-SC SCREW M3X8

- 401-44760 FEED_MAIN_GEAR_ASSY_8SR
+ SM-5030501-SC SCREW M3 L=5




+ 400-77507 SPROCKET_LINER_WP

+ 400-68679 SPROKET_THRUST_SPRING
* 400-77504 SPROCKET_FLANGE_WP

+ SL-4030691-SC SCREW M3 L=6

+ 401-43541 UPPER_COVER_ASSY_S
 401-43554 UPPER_COVER_ASSY_S_02
* 400-85503 TAPE_SUPPORT_UNIT

* 400-85299 TAPE SUPPORT

+ 400-42430 UNDER SUPPORT SHIM 20

+ 400-85300 TAPE SUPPORT SHIM 60

+ 400-85301 TAPE SUPPORT SHIM 100

+ ST-4020521-SN TAPPING SCREW D=2 L=5

(322 Global Soul Limited

@ +8613728696610 9 liyi@gs-smt.com @ smtmachine-spareparts.com

Room F3B-016, B Block, Hao Yun Lai Bussiness Building, Liutang road , Bao'an District , Shenzhen, China




	JUKI EF72FS tape feeder
	72mm electric tape feeder
	SMT feeder with warranty

